sL worksheet number 3

1) State the Le Chatelier’s Principle (hasn’t been covered yet just google it) -
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3) How can the value of the equilibrium constant expression be changed
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5) What is the reaction quotient Q for the reaction below
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6) Calculate the value of K, for the reaction 2 NO (8)+Br2 (g) ¥ 2 NOBr 4oy
Given the following information
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7) Calculate the value of Kc for the reaction 2 N,O(g) + 3 0i(g) S 2 N204(g)

Using the following information
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8) Carbon monoxide reacts with hydrogen to form methanol. All species in this system are gases
Keq = 25 and this reaction releases tones of energy.

a. Ifinitially there are 2.00 moles of each species in a 2.500 L container in which direction must the
system shift to reach equilibrium
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b. Describe what will happen in terms of rates and in terms of equilibrium shifts if a catalyst is
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9) For the following reaction

N2(g +202(g s 2NO2 (g

a. At equilibrium which side is favoured
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10) 0.400 mol of hydrogen gas and 0.200 mol of iodine gas were placed in a 2.00 L flask and allowed

to reach equilibrium. At equilibrium {HI] = 0.1600 M. Find the value of Keq. E
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11) Equal moles of hydrogen and bromine gases are placed in a flask at equilibrium [HBr]
mol/L, if Keq = 1.95, find [H,] at equilibrium
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